


𝐂𝐚𝐦𝐚𝐜𝐡𝐨  𝐈𝐝𝐞𝐧𝐭𝐢𝐭𝐲

√𝑎 ∗ 𝑏 ∗ 𝑐 =  √𝑎 ∗ √𝑏 ∗ √𝑐

√𝑎 + 𝑏 + 𝑐  ≠  √𝑎 + √𝑏 + √𝑐

- 



𝐁𝐞 𝐚 𝐩𝐞𝐫𝐟𝐞𝐜𝐭 𝐬𝐪𝐮𝐚𝐫𝐞 𝐭𝐫𝐢𝐚𝐝 

𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0

𝑊ℎ𝑒𝑟𝑒 𝑎, 𝑏, 𝑐  𝑎𝑟𝑒 𝑟𝑒𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠. 

√𝑎𝑥2 + 𝑏𝑥 + 𝑐 =  √𝑎𝑥2 + √𝑐

√𝑎𝑥2 + 𝑏𝑥 + 𝑐 = √𝑎𝑥 + √𝑐

𝑏2 − 4𝑎𝑐 = 0



√𝑥2 + 2𝑥 + 1

𝑎 = 1, 𝑏 = 2, 𝑐 = 1

𝑏2 − 4𝑎𝑐 = 0

22 − 4(1)(1) = 0

√𝑥2 + 2𝑥 + 1 = √𝑥2 + √1 = 𝑥 + 1

√64𝑥2 + 32𝑥 + 4

𝑎 = 64, 𝑏 = 32, 𝑐 = 4

𝑏2 − 4𝑎𝑐 = 0

322 − 4(64)(4) = 0

√64𝑥2 + 32𝑥 + 4 = √64𝑥2 + √4 = 8𝑥 + 2



√49𝑥2 + 84𝑥 + 36.

√49𝑥2 + 84𝑥 + 36

𝑎 = 49 , 𝑏 = 84 , 𝑐 = 36

𝑏2 − 4𝑎𝑐 = 0

842 − 4(49)(36) = 0

√49𝑥2 + 84𝑥 + 36 = √49𝑥2 + √36 = 7𝑥 + 6

𝑫𝒙 √49𝑥2 + 84𝑥 + 36 = 𝑫𝒙(𝟕𝒙 + 𝟔) = 𝟕

∫ √49𝑥2 + 84𝑥 + 36 𝒅𝒙 = ∫(𝟕𝒙 + 𝟔)𝒅𝒙 =
𝟕𝒙𝟐

𝟐
+ 𝟔𝒙 + 𝑪



𝐁𝐞 𝐚 𝐩𝐞𝐫𝐟𝐞𝐜𝐭 𝐬𝐪𝐮𝐚𝐫𝐞 𝐭𝐫𝐢𝐧𝐨𝐦𝐢𝐚𝐥  

𝑎𝑥𝑛 + 𝑏𝑥
𝑛
2 + 𝑐 = 0

𝑤ℎ𝑒𝑟𝑒 𝑎, 𝑏, 𝑐  𝑎𝑟𝑒 𝑟𝑒𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑎𝑛𝑑  𝑛  𝑖𝑠 𝑒𝑣𝑒𝑛 > 2.

𝑢 = 𝑥𝑛, 𝑣 = 𝑥
𝑛
2

𝑎𝑢 + 𝑏𝑣 + 𝑐 = 0

√𝑎𝑢 + 𝑏𝑣 + 𝑐 =  √𝑎𝑢 + √𝑐

𝑏2 − 4𝑎𝑐 = 0

𝐁𝐞 𝐚 𝐩𝐞𝐫𝐟𝐞𝐜𝐭 𝐬𝐪𝐮𝐚𝐫𝐞 𝐭𝐫𝐢𝐧𝐨𝐦𝐢𝐚𝐥 𝐨𝐟 𝐭𝐡𝐞 𝐟𝐨𝐫𝐦:

𝑎𝑥𝑛 + 𝑏𝑥
𝑛
2𝑦

𝑛
2 + 𝑐𝑦𝑛 = 0

𝑤ℎ𝑒𝑟𝑒 𝑎, 𝑏, 𝑐 𝑎𝑟𝑒 𝑟𝑒𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑎𝑛𝑑  𝑛 𝑖𝑠 𝑒𝑣𝑒𝑛 > 2.

𝑢 = 𝑥𝑛, 𝑣 = 𝑥
𝑛
2𝑦

𝑛
2 , 𝑤 = 𝑦𝑛

𝑎𝑢 + 𝑏𝑣 + 𝑐𝑤 = 0



√𝑎𝑢 + 𝑏𝑣 + 𝑐𝑤 =  √𝑎𝑢 + √𝑐𝑤

𝑏2 − 4𝑎𝑐 = 0

√𝑥6 + 2𝑥3 + 1 

𝑎 = 1, 𝑏 = 2, 𝑐 = 1  

𝑢 = 𝑥6, 𝑣 = 𝑥3 

𝑏2 − 4𝑎𝑐 = 0

22 − 4(1)(1) = 0

√𝑥6 + 2𝑥3 + 1 =  √𝑥6 + √1 = 𝑥3 + 1

√9𝑥2 + 18𝑥𝑦 + 9𝑦2 

𝑎 = 9, 𝑏 = 18, 𝑐 = 9  

𝑢 = 𝑥2, 𝑣 = 𝑥𝑦, 𝑤 = 𝑦2

𝑏2 − 4𝑎𝑐 = 0

182 − 4(9)(9) = 0 √9𝑥2 + 18𝑥𝑦 + 9𝑦2 = √9𝑥2 + √9𝑦2 = 3𝑥 + 3𝑦



𝐁𝐞 𝐚 𝐩𝐞𝐫𝐟𝐞𝐜𝐭 𝐬𝐪𝐮𝐚𝐫𝐞 𝐭𝐫𝐢𝐧𝐨𝐦𝐢𝐚𝐥 

𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0

𝑤ℎ𝑒𝑟𝑒 𝑎, 𝑏, 𝑐, 𝑥   𝑎𝑟𝑒 𝑎𝑟𝑒𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 

𝑆𝑖  𝑠𝑒 𝑠𝑎𝑡𝑖𝑠𝑓𝑎𝑐𝑒  𝑞𝑢𝑒 𝑒𝑙 𝑑𝑖𝑠𝑐𝑟𝑖𝑚𝑖𝑛𝑎𝑛𝑡𝑒   𝑏2 − 4𝑎𝑐 = 0

(√𝑎𝑥2 + √𝑐)
2

= √𝑎𝑥2
2

+ (2√𝑎𝑐𝑥2) + √𝑐
2

= 𝑎𝑥2 + 2√𝑎𝑐𝑥2 + 𝑐

 𝑎𝑥2 + 2√𝑎𝑐 𝑥 + 𝑐

𝐶𝑜𝑚𝑜   𝑏2 − 4𝑎𝑐 = 0 → 𝑏 = √4𝑎𝑐 → 𝑏 = 2√𝑎𝑐

 𝑎𝑥2 + 𝑏𝑥 + 𝑐

√(√𝑎𝑥2 + √𝑐)2 √𝑎𝑥2 + √𝑐

√𝑎𝑥2 + 𝑏𝑥 + 𝑐 =  √𝑎𝑥2 + √𝑐



𝑏2 − 4𝑎𝑐 = 0

(𝑎 + 𝑏 + 𝑐)2 = 𝑎2 + 𝑏2 + 𝑐2 + 2𝑎𝑏 + 2𝑎𝑐 + 2𝑏𝑐

𝐷𝑜𝑛𝑑𝑒 𝑎, 𝑏, 𝑐   𝑠𝑜𝑛 𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑜𝑠  𝑅𝑒𝑎𝑙𝑒𝑠.

𝑰𝒇 𝒅𝒊𝒔𝒄𝒓𝒊𝒎𝒊𝒏𝒂𝒏𝒕  ∆= 𝟎

√𝑎2 + 𝑏2 + 𝑐2 + 2𝑎𝑏 + 2𝑎𝑐 + 2𝑏𝑐 =  √𝑎2 + √𝑏2 + √𝑐2

𝒘𝒆 𝒔𝒊𝒎𝒑𝒍𝒊𝒇𝒚 ∶   𝒂 + 𝒃 + 𝒄 

𝐶𝑜𝑚𝑜  (𝑎 + 𝑏 + 𝑐)2 = 𝑎2 + 𝑏2 + 𝑐2 + 2𝑎𝑏 + 2𝑎𝑐 + 2𝑏𝑐

𝑊ℎ𝑒𝑟𝑒 𝑎, 𝑏, 𝑐  𝑎𝑟𝑒 𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒 𝑟𝑒𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑎𝑛𝑑  ∆= 𝟎.

Apply the laws of exponents , we have ∶

√𝑎2 + 𝑏2 + 𝑐2 + 2𝑎𝑏 + 2𝑎𝑐 + 2𝑏𝑐 =  √(𝑎 + 𝑏 + 𝑐)2 =  𝑎 + 𝑏 + 𝑐

 𝐂𝐮𝐛𝐢𝐜 𝐩𝐞𝐫𝐟𝐞𝐜𝐭  𝐩𝐚𝐢𝐫 𝐩𝐨𝐥𝐢𝐧𝐨𝐦𝐲𝐚𝐥 

𝑎𝑥3 + 𝑏𝑥2 + 𝑐𝑥 + 𝑑 = 0

𝑊ℎ𝑒𝑟𝑒  𝒂, 𝒃, 𝒄, 𝒅, 𝒙  𝑎𝑟𝑒 𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒 𝑟𝑒𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠. 

√𝑎𝑥3 + 𝑏𝑥2 + 𝑐𝑥 + 𝑑
3

= √(√𝑎𝑥33
+ √𝑑

3
)

33

= √𝑎𝑥33
+ √𝑑

3
= √𝑎

3
𝑥 + √𝑑

3



𝑆í ∆= 𝟎

𝑎𝑥2 + 𝑏𝑥 + 𝑐 

√𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√𝑎𝑥2 + 𝑏𝑥 + 𝑐) = √𝑎𝑥2 + √𝑐

  𝑏2 − 4𝑎𝑐 = 0

√9𝑥2 − 16 +
24

√9
(√9𝑥2 + 24𝑥 + 16) = √9𝑥2 + √16 = 3𝑥 + 4

 𝑏2 − 4𝑎𝑐 = 0     242 − 4(9)(16) = 0

= √9𝑥2 − 16 +
24

3
(3𝑥 + 4)

= √9𝑥2 − 16 + 8(3𝑥 + 4)

= √9𝑥2 − 16 + 24𝑥 + 32

= √9𝑥2 + 24𝑥 + 16 = √9𝑥2 + √16 = 3𝑥 + 4



𝑓(𝑥) = √(2𝑥 + 1)(2𝑥 − 1) + 2(√4𝑥2 + 4𝑥 + 1)

 

√4𝑥2 − 1 +
4

√4
(√4𝑥2 + 4𝑥 + 1) →

 √𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√𝑎𝑥2 + 𝑏𝑥 + 𝑐)

 4𝑥2 + 4𝑥 + 1

:

√4𝑥2 − 1 +
4

√4
(√4𝑥2 + 4𝑥 + 1) = √4𝑥2 + √1 = 2𝑥 + 1

𝑓′(𝑥) = 2

∫ 𝑓(𝑥) 𝑑𝑥 = ∫ 2𝑥 + 1 𝑑𝑥 = 𝑥2 + 𝑥 + 𝐾



√𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√𝑎𝑥2 + 𝑏𝑥 + 𝑐) = √𝑎𝑥2 + √𝑐

𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√𝑎𝑥2 + 𝑏𝑥 + 𝑐) = (√𝑎𝑥2 + √𝑐)2

𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√𝑎𝑥2 + 𝑏𝑥 + 𝑐) = 𝑎𝑥2 + 2√𝑎𝑥2𝑐 + 𝑐

𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√𝑎𝑥2 + 𝑏𝑥 + 𝑐) = 𝑎𝑥2 + 2√𝑎𝑐𝑥 + 𝑐

𝐶𝑜𝑚𝑜   𝑏2 − 4𝑎𝑐 = 0 → 𝑏 = √4𝑎𝑐 → 𝑏 = 2√𝑎𝑐 𝑎 =
𝑏2

4𝑐
𝑐 =

𝑏2

4𝑎

𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√𝑎𝑥2 + 𝑏𝑥 + 𝑐) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐

𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√(√𝑎𝑥2 + √𝑐)2) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐

𝑎𝑥2 − 𝑐 +
𝑏

√𝑎
(√𝑎𝑥2 + √𝑐) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐

𝑏

√𝑎
(√𝑎𝑥2 + √𝑐) = 𝑏𝑥 + 2𝑐

𝑏

√𝑎
(√𝑎𝑥 + √𝑐) = 𝑏𝑥 + 2𝑐

𝑏√𝑎𝑥

√𝑎
+

𝑏√𝑐

√𝑎
= 𝑏𝑥 + 2𝑐

𝑏𝑥 +
𝑏√𝑐

√𝑎
= 𝑏𝑥 + 2𝑐

𝑏√𝑐

√𝑎
= 2𝑐

𝐶𝑜𝑚𝑜 𝑎 =
𝑏2

4𝑐
→ √𝑎 =

𝑏

2√𝑐

𝑏√𝑐
1
𝑏

2√𝑐

= 2𝑐

2𝑏√𝑐2

𝑏
= 2𝑐 ;  

2𝑏𝑐

𝑏
= 2𝑐

𝟐𝒄 = 𝟐𝒄      𝑸. 𝑬. 𝑫. 



𝑎𝑥2 + 𝑏𝑥 + 𝑐 ,   𝑏2 − 4𝑎𝑐 = 0 ∶ 𝑆𝑞𝑢𝑎𝑟𝑒 𝑝𝑒𝑟𝑓𝑒𝑐𝑡 𝑇𝑟𝑖𝑛𝑜𝑚𝑖𝑎𝑙

𝑫𝒙√𝒂𝒙𝟐 − 𝒄 +
𝒃

√𝒂
(√𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄) = √𝒂

𝑎𝑥2 + 𝑏𝑥 + 𝑐 ,   𝑏2 − 4𝑎𝑐 = 0 ∶ 𝑆𝑞𝑢𝑎𝑟𝑒 𝑝𝑒𝑟𝑓𝑒𝑐𝑡 𝑇𝑟𝑖𝑛𝑜𝑚𝑖𝑎𝑙

∫ √𝒂𝒙𝟐 − 𝒄 +
𝒃

√𝒂
(√𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄) 𝒅𝒙 =

√𝒂

𝟐
𝒙𝟐 + √𝒄𝒙 + 𝑲


